Year 1 Maths Activity Mat ®

Section 1 Section 3 Section 6
There are 22 cows in a field. Draw something that would weigh about 32 people are on the bus.
Seven cows leave the field. the same as this: 10 get off.

How many are in the field now? 4 more get on.

How many are on the bus now?

4 ) Section 4

r w
Section 7
Draw a picture to show this: 2 x 9 =18

i 100—>| 10 less |—
Section 2 ess

Match up the coins to the amounts.

81 —| 10less |—

22p 74 —| 10 less |—

99 —| 10 less |[—

~ Y
30p Section 5 Section 8
ection 18 children go to a party. There are only 14 party hats. How
Draw the coins you need to make £1.99. many more hats are needed?

15p
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Year 1 Maths Activity Mat: 4

Answers
a Y
Section 1 Section 3 Section 6
There are 22 cows in a field. Draw something that would weigh about 32 people are on the bus.
Seven cows leave the field. the same as this: 10 get off.

How many are in the field now? 4 more get on.

Accept any reasonable answer.

How many are on the bus now?

15 26
Section 4

e )
Section 7
Draw a picture to show this: 2 x 9 =18

i 100—>| 10less |—| 90
Section 2 ess

Match up the coins to the amounts.

81 —| 10less [—| 71

22p 74 —| 10 less |—| 64 Accept any correct pictorial representation

99 —| 10less [—| 89

o N
30p Section 5 Section 8
ection 18 children go to a party. There are only 14 party hats. How
Draw the coins you need to make £1.99. many more hats are needed?

Accept any combination of coins
15p totalling £1.99
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